fijaciones y anclajes

[!l||_u5AN. \

CAPSULA METAL + TORNILLO CABEZA HEXAGONAL

EIE  SLEEVE ANCHOR METAL WITH FIXED CONE WITH HEXAGONAL HEAD SCREW
B B CHEVILLE A DOUILLE EN ACIER AVEC VIS TETE HEXAGONAL
== {ULSENANKER MIT SECHSKANTSCHRAUBE

CAJA/BOX/BOITE BT CINCADO / ZINC PLATED
cooico g osroch e

Code / Code Measure / Mesure Drill @/ @ Foret Wrench/Clé Extraccion Cizallado s ‘
MxL/@ D tension load/ extraction  shear load / cisaillement
m.m. m.m. SwW kN kN
MCT06 Mé6x45/211 n 10 9,98 2,60 100 1.200
MCT08 M8x60/214 14 13 12,50 4,50 50 300
MCT10 M10x70/@16 16 17 20,10 6,10 50 300
MCT12 M12x80/@20 20 19 45,30 10,50 25 150

CAPSULA METAL ARO

SfE SLEEVE ANCHOR METAL WITH FIXED CONE - EYE BOLT
B W CHEVILLE A DOUILLE EN ACIER AVEC PITON
== HULSENANKER MIT AUGENSCHRAUBE

CAJA/BOX/BOITE D) CINCADO / ZINC PLATED
conico MEDIDA osroca Luave e

Code / Code Measure / Mesure Drill @/ @ Foret Wrench/ Clé Extraccion Cizallado ’ ‘
MxL/@ D tension load/extraction  shear load/ cisaillement
m.m. m.m. SW kN kN

MCA06 M6x45/211 mn 10 9,98 2,60 100 600
MCA08 M8x60/214 14 13 12,50 4,50 50 300
MCA10 M10x70/@16 16 17 20,10 6,10 25 150
MCA12 M12x80/@20 20 19 45,30 10,50 20 120
CAPSULA METAL GANCHO

EIE  SLEEVE ANCHOR METAL WITH FIXED CONE - HOOK BOLT
B B CHEVILLE A DOUILLE EN ACIER AVEC CROCHET
== {LSENANKER MIT RUNDHAKEN

CAJA/BOX/BOITE BT CINCADO / ZINC PLATED
cooico g osroca e

Code / Code Measure / Mesure Drill @/ @ Foret Wrench/Clé Extraccion Cizallado s ‘
MxL/@ D tension load/ extraction  shear load / cisaillement
m.m. m.m. N kN kN

MCGO06 M6x45/811 11 10 9,98 2,60 100 600
MCG08 M8x60/@14 14 13 12,50 4,50 50 300
MCG10 M10x70/@16 16 17 20,10 6,10 25 150
MCG12 M12x80/@20 20 19 45,30 10,50 20 120
CAPSULA METAL

EIE SLEEVE ANCHOR METAL WITH FIXED CONE
B B CHEVILLE A DOUILLE EN ACIER
== {ULSENANKER

CAJA/BOX/BOITE D) CINCADO / ZINC PLATED
conico MEDIDA osroca e

Code/Code Measure / Mesure Drill @/ @ Foret Extraccion Cizallado ’ ‘
MxL/@ D tension load/ extraction  shear load / cisaillement
m.m. m.m. kN kN
MCo6 M6x45/211 11 9,98 2,60 100 1.200
MC08 M8x60/214 14 12,50 4,50 50 300
mcio M10x70/@16 16 20,10 6,10 50 300
Mc12 M12x80/@20 20 45,30 10,50 25 150
44 * Recomendamos aplicar un coeficiente de seguridad “4”/ We recommend applying a safety factor of "4"

/ Nous recommandons d'appliquer un facteur de de sécurité "4" / Wir empfehlen die Anwendung eines Sicherheitsfaktors von "4"
CMA.: Carga mdxima admisible, PA.: Par de apriete./ CMA.: Maximum allowable load. PA.: Torque / CMA.: Charge maximale admisible. PA.: Couple de serrage / CMA.: Maximal zuldssige Belastung, PA.: Anzugsdrehmoment.



